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1 0.1 The Real Numbers. Page 2 — Page 5 (ending with example 1.4).
2 0.1 The Absolute Value and the L . S

Cartesian Plane. Page 2 (Beginning with Definition 1.1) — Page 8.
3 0.2 Equations of Lines Page 10 — Page 13.
4 0.2 Functions Page 14 — Page 20 (not including example 2.14).
5 0.5 Transformations of Functions. Page 41 — Page 47.
6 2.3 Computation of Derivatives: . .

the Power Rule. Page 148 — Page 153 (ending with example 3.5).
7 ;.j;’she Product and Quotient Page 158 — Page 163 (ending with example 4.4).
8 2.5 The Chain Rule. Page 167 — Page 170.
9 2.6 Derivatives of Trigonometric Page 175 (Beginning with theorem 6.1) — Page 178

Functions. (ending with example 6.4)
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Circle T or F for the following:

1. T F (Z,.)is a group.
2. T F f(x)=x* is a 1-1 function.

L3Ry SV Al @

Circle the correct answer:

1. logs27=
A 1/3 B 3
C 9 D 27
bl il e

Match the correct answer
1. The equation (x-h)*+(y-k)’=r? is a graph

2. A function which is 1-1, onto and
homorphism

3. An isomorphism from G onto G is called
4. A function which is 1-1 and onto is
called

A. bijective B. Automorphism C. Parabola
D. Circle  E.isomorphism

ELA sl e
1. Afunction is said to be isomorphism if it is
, and

2. The slope of y=2x-5is
(X —4)=
4. Log,64=

w
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5. Define a topology?

6. List all conditions that is required for any
set to be a group?.

7. State the first homomorphism theorem?

8. Detemine whether or not f(x)=x? is 1-1?
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9. Prove the first homomorphism theorem?

10. Explain why does the inverse of lagrange
theoem is not true?

11. lllustrate the following diagram.

12. Show that f(x)=4x+7 is 1-1 and find its
inverse?
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Question:

Factorize: 6x>+4x=10 and solve for x?

[mark=2.25]

Solution:

6x°+4x-10=0

1/4

(2x-2)(3x+5)=0

1/4,1/4

2x-2=0 and 3x+5=0 1/4,1/4
2x=2 and  3x=-5 1/4,1/4
x=1 and  x=-5/3 1/4,1/4

Question:

Evaluate the following equation:

2x+5=6-7x  [mark=1.25]

Solution:

2X+5=6-7x

2x+7x=6-5 1/4,1/4
9x=1 1/4, 1/4
X=1/9 1/4
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